Honors Math 3: Modeling with Trigonometric Functions

“fslnscribed & Circumscribed Guided Notes (Circles, Quadrilaterals, Triangles)
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a circle if all of the vertices lie on the circle.

What do you see?
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““rnerefore, a polygon is

a circle if each side is tangent to the circle.

A polygon is

Given: m£ADC = 60", mBC = 40%and mCD = 110",
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What do you notice about
opposite angles in the




Properties of Tangents

A
'rTanggnt to _a circle- lies in the plane of the circle and intersects the
circle in exactly one point.

Theorem- If a line is tangent to a circle, then the line is perpendicular
to the radius at the point of tangency. _—
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Corollary- Two tangent segments from a common external point are
congruent. AB £ CB

Corollary-The two tangent rays from a common external point
determine an angle that is bisected by the ray from the external point
to the center of the circle.

4 ABD = £CBD
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Solve for x. Assume that lines which appear to be tangent are tangent. m YMS"
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Find the perimeter of each polygon. Assume that lines which appear to be tangent are tangent.
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Find the angle measure indicated. Assume that lines which appear to be tangent are tangent.
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Find the measure of the arc or angle indicated.
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Find the measure of the arc or angle indicated. Assume that lines which appear tangent are
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